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1 a. Listand explamn the factors affeet@gﬁe performance ofa cg’mpﬁ%r (06 Marks)
b. Write a program that can ev&ha%’the expression A x B + € D in a single-accumulator
processor. Assume that the pmmssor has Load, Store, . Maltiply and Add instructions and
that all values fit in the accamulator =S (06 Marks)
¢. What do you understanﬁ%g&e following? Hlustrat& wﬁn example:
(i) Big-Endian Asmgnment
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g (ii) Little-EndlamAsmgnment (08 Marks)
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§ ; 2 a. Whatis the mgnzfﬁcance of addressing modes? Explam the following addressing modes with

Fo their synta,mnc} an example: Ind1rect Immeélate Index, Auto decrement, Base with index.
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é % 3 a. With necessary dlagran%_explam how sun@;;gm@ous requests fron multlple devices are

ERS handled. : oy (08 Marks)

S b. Define bus arbit , list its advantages.

B 5 (08 Marks)

é E c. Distinguish beﬁ?sg@en the following: £

2 g (i) Synchronous Bus and Asynchrcmous Bus

g _g (i1) Cy@ stealing and burst rnoc”lew (04 Marks)
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5% 4 a : (06 Marks)

g § b. Explain split bus operatibm in USB. % (06 Marks)

£ 8 .1 maExplam the fol]owm}gﬁUﬁB’“packet formatg. 57
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ER ~ PART —B

i : 5 a. With a neat diagram, expidiﬂﬁ*ganization ofa 1K x 1 memory chip. (07 Marks)

8 b. Explain associative cache mapping function. (06 Marks)

Z c. With the help of dlagrgm, explain virtual-memory address translation method. (07 Marks)
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‘;i 6 a. Design 16 bit caﬁ@ look ahead adder using 4 bit adders. Also, write equations for

E Generate, Propagate and Carry-out. (08 Marks)
b. Using Booth multiplication algorithm, multiply —13 and 11. (06 Marks)

c. Explamm;mult arrangement for binary division using restoring division method. (06 Marks)
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Draw three-bus organization of the processor unit. Li§ ceﬁrol sequence for the instruction

Add R4, RS, R6 for three-bus organization. ) ? ‘ (08 Marks)
Draw block diagram of a complete processor with fef explanation. (04 Marks)
Draw and explain basic organization of a mwroﬁfxzo rammed control unit. Also, write micro-
routine for the instruction branch < 0. . 2.7 (08 Marks)
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With a neat diagram, explain classic gﬁgzguzatlon of a shared memory multlprocessor
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‘&wv (06 Marks)

Suppose a single shared memg% mﬁcessor has 20 GB oﬁ*n@n memory, five clustered

computers each have 4 GB, anﬁh‘% OS occupies 1 GB. How.much more space is there for

users w1th shared memory" 3 "” 12 £ (06 Marks)

(08 Marks)
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